PROC FORMAT;PICTURE DOTS 1-99='09........ 'y

DATA Il; INFILE LIMITS;

INPUT UPPER LOWER PER;
PERCENT=PER/100; PERLOW=LOWER; PERUPR=UPPER;
STDLRG= ( ( (PERCENT) * (1-PERCENT) ) /3000) ;
DO UNTIL(SIGNIFLW LE 1.96);
PERLOW=PERLOW+0.000001;

STDSMLLW= ( ( (PERLOW) * (1L-PERLOW) ) /3000) ;
IF (STDSMLLW+STDLRG) LT 0 THEN STOP;
ELSE STDDIFLW=SQRT (STDSMLLW+STDLRG) ;
SIGNIFLW= ( (PERCENT-PERLOW) /STDDIFLW) ;
END;

PROC SORT DATA=I1; BY PER;
PROC PRINTTO PRINT=OUTLIST LOG=LOG;
DATA NULL_;

FILE PRINT NOTITLES N=PS HEADER=H PAGESIZE=132;
DO L=13 TO 62;
SET INCALC;
IF PER EQ (L-12) THEN
PUT #(L) @5 PER DOTS. @24 PERUP 5.1 @38 PERLW 5.1 ;
IF PER=(L-12)+50 THEN
PUT #(L) @55 PER DOTS. @74 PERUP 5.1 @88 PERLW 5.1 / ;
END;
RETURN;
H:PUT @42 'T77'/ @42 v/
@24 'SIGN PERCENTAGE VALUES'/
@29 'BETW OF 3,000'/

@32 'oCT 2013' / @1 100*'-' /

@55 'ESTIMATED' @74 'BECOME SIGNIFICANT'/

@55 'PERCENTAGE' @74 'UPPER' @88 'LOWER' / @1 100*'-' /;
RETURN;

RUN;



